
1-11
 Need Parts or Assistance? Email us at support@homejoyee.com

NO.:PO230616001

1-11
 Need Parts or Assistance? Email us at support@homejoyee.com

NO.:PO230616001�������������������



 

PLEASE DO NOT RETURE PRODUCT TO US IMMEDIATELY 

If a part is missing or damaged, email our customer service.
We will gladly ship your replacement parts FREE of charge.

Need Parts or Assistance? Email us at 

For Prompt, reliable service, please have your assemble instruction ready.

2-11

WARNING

T V

Children have died from furniture 
tipover. To reduce the risk of furniture 
tipover:
    ALWAYS install tipover restraint    
    provided.
    NEVER put a TV on this product.
    NEVER allow children to stand, climb 
    or hang on drawers, doors, or shelves.
    NEVER open more than one drawer at 
    a time.
    Place heaviest items in the lowest 
    drawers.

support@homejoyee.com

1



2

X4

A  X 76

M6*35 

B  X 36

15*12

C  X 40 D  X 10

M4*40

8*4015*10

E  X 6

M6.3*50

F  X 1

M4*18

G  X 92

M4*14
H  X 40 I  X 16 J  X16 K  X 2 L  X 12

X4

CL  X 8 CR X 8

DL X 8 DR X 8

Packing list

Left

Right

1

17

17

17

11

2

3

4

5

5

7

14 15

16

12

13

10

14 15

16

12

13

8

8

9

9

6

M6 x 35 mm
A x 6

M6 x 35 mm
A x 8 I x 36 CL x 6CR x 6

Step 1

4-12

Step 2

A

A

A

A

A

A

1

II

CL

I I

CR

CL

CL

CL

CR

CR

CR

I

I

I

I

I

I
A

A

I

I

I

I

I

I
2

3

Insert quickfit screws(A) into corresponding holes in part 1 as shown.

Insert screws(A) into part 2 and 3 as shown.
Fix left outer drawer runner ( CL) and 
right outer drawer runner (CR) to parts 2 and 
3 using screws (I),as shown.

I

I

I

I

II

I

I

180°
4

4

CL

CL

CL

CR

CR

CR

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I
A

A

Fix right outer drawer runner (CR) to part 4 using screws (I) ,
then flipping part 4 180degrees horizontally to
 fix left outer drawer runner ( CL)



3

G  X 48

A  X 10

M6*35 

CL  X 8

CR X 8

2

3

4

4

1

STEP1

STEP2 Fix left outer drawer runner ( CL) and right outer drawer runner (CR) to
 parts 2 and 3 using screws (G),as shown.
Fix right outer drawer runner (CR) to part 4 using screws (G) , then flipping
part 4 180 degrees horizontally to fix left outer drawer runner ( CL)

Insert quickfit screws(A) into correspond-
ing holes in part 1 as shown.

A

Ａ

Ａ

Ａ
Ａ

Ａ

Ａ Ａ

Ａ
Ａ

G

Ａ

G
G G

G
G G

G
G G

G
G G

G
G G

G
G G

G
G G

G
G G

GG
G

GG G
GG G

GG G
GG

G
GG

G
GG

G
GG

M6 x 35 mm
A x 6

M6 x 35 mm
A x 8 I x 36 CL x 6CR x 6

Step 1

4-12

Step 2

A

A

A

A

A

A

1

II

CL

I I

CR

CL

CL

CL

CR

CR

CR

I

I

I

I

I

I
A

A

I

I

I

I

I

I
2

3

Insert quickfit screws(A) into corresponding holes in part 1 as shown.

Insert screws(A) into part 2 and 3 as shown.
Fix left outer drawer runner ( CL) and 
right outer drawer runner (CR) to parts 2 and 
3 using screws (I),as shown.

I

I

I

I

II

I

I

180°
4

4

CL

CL

CL

CR

CR

CR

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I
A

A

Fix right outer drawer runner (CR) to part 4 using screws (I) ,
then flipping part 4 180degrees horizontally to
 fix left outer drawer runner ( CL)

M6 x 35 mm
A x 6

M6 x 35 mm
A x 8 I x 36 CL x 6CR x 6

Step 1

4-12

Step 2

A

A

A

A

A

A

1

II

CL

I I

CR

CL

CL

CL

CR

CR

CR

I

I

I

I

I

I
A

A

I

I

I

I

I

I
2

3

Insert quickfit screws(A) into corresponding holes in part 1 as shown.

Insert screws(A) into part 2 and 3 as shown.
Fix left outer drawer runner ( CL) and 
right outer drawer runner (CR) to parts 2 and 
3 using screws (I),as shown.

I

I

I

I

II

I

I

180°
4

4

CL

CL

CL

CR

CR

CR

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I
A

A

Fix right outer drawer runner (CR) to part 4 using screws (I) ,
then flipping part 4 180degrees horizontally to
 fix left outer drawer runner ( CL)

M6 x 35 mm
A x 6

M6 x 35 mm
A x 8 I x 36 CL x 6CR x 6

Step 1

4-12

Step 2

A

A

A

A

A

A

1

II

CL

I I

CR

CL

CL

CL

CR

CR

CR

I

I

I

I

I

I
A

A

I

I

I

I

I

I
2

3

Insert quickfit screws(A) into corresponding holes in part 1 as shown.

Insert screws(A) into part 2 and 3 as shown.
Fix left outer drawer runner ( CL) and 
right outer drawer runner (CR) to parts 2 and 
3 using screws (I),as shown.

I

I

I

I

II

I

I

180°
4

4

CL

CL

CL

CR

CR

CR

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I
A

A

Fix right outer drawer runner (CR) to part 4 using screws (I) ,
then flipping part 4 180degrees horizontally to
 fix left outer drawer runner ( CL)

CL
CL

CL
CL

CL
CL

CL
CL

CR

CR

CR
CR

CR

CR

CR
CR

180



4

5

7

7

8

8

8

8

E  X 4

M6.3*50

Connect the 7th and 8th plates with screw E.

Insert wooden dowels (D) into assembled unit,
as shown.Screw screw A into plate 7,attach part 
5 to as sembled unit using screws (B), as shown

B

E

B

B

B

A

A

A

D

D

E

E E

STEP3

STEP4
A  X 3

M6*35 

B  X 3

15*12
D  X 2

8*40

M6 x 35 mm
A x 6

M6 x 35 mm
A x 8 I x 36 CL x 6CR x 6

Step 1

4-12

Step 2

A

A

A

A

A

A

1

II

CL

I I

CR

CL

CL

CL

CR

CR

CR

I

I

I

I

I

I
A

A

I

I

I

I

I

I
2

3

Insert quickfit screws(A) into corresponding holes in part 1 as shown.

Insert screws(A) into part 2 and 3 as shown.
Fix left outer drawer runner ( CL) and 
right outer drawer runner (CR) to parts 2 and 
3 using screws (I),as shown.

I

I

I

I

II

I

I

180°
4

4

CL

CL

CL

CR

CR

CR

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I
A

A

Fix right outer drawer runner (CR) to part 4 using screws (I) ,
then flipping part 4 180degrees horizontally to
 fix left outer drawer runner ( CL)



5

4

5

5

5

6

6

7

8

8

E  X 2

M6.3*50

Attach part 4 to as sembled unit using screws 
(E), as shown

Insert wooden dowels (D) into assembled unit,
as shown.Screw screw A into plate 6,attach part 
5 to as sembled unit using screws (B), as shown

A

A

A

D

D

E

E

STEP5

STEP6

A  X 3

M6*35 

B  X 3

15*12
D  X 2

8*40

B

B

B



6

2

4

STEP7

STEP8

9

9

Screw  A into plate 4,attach part 9 to as sem-
bled unit using screws (B), as shown

Screw  A into plate 2,attach part 2 to as sem-
bled unit using screws (B), as shown

Ａ
ＡＡ

ＡＡ
Ａ

B
B

B
B

B
B

Ａ
Ａ

B
B

Ａ
Ａ

B
B

A  X 2

M6*35 

B  X 2

15*12

A  X 8

M6*35 

B  X 8

15*12



7

2

4

STEP9

STEP10

9

9

3

Screw  A into plate 4,attach part 9 to as sem-
bled unit using screws (B), as shown

Screw  A into plate 3,attach part 3 to as sem-
bled unit using screws (B), as shown

Ａ
ＡＡ

Ａ
Ａ

Ａ
ＡＡ

B
B

B
B

B
B

B
B

Ａ
Ａ B

B

A  X 2

M6*35 

B  X 2

15*12

A  X 8

M6*35 

B  X 8

15*12



8

STEP12

STEP11

17

17

17

2

3

4
8

8

1

B  X 10

15*12

D  X 6

8*40

Slide part 16 into available slots of parts 2 ,3,4 and 8 as shown.

Insert wooden dowels (D) into 
part 1,as shown.
Add cam locks (B) into assem-
bled unit as shown
and attach part 1 to assembled 
unit.
Turn cam locks clockwise to 
tighten.

B B

B

B
B

B
B

B
D D

D D

D D

B

B



9

STEP13

STEP14 Slide part 16 into available slots of parts 12,13 and 14,as shown.

Connect the 14 and 15 plates with screw H, and connect the 12, 13, and 
14 plates with screw H.

H
H

H

H

H

X8

X8

14

15

16

12

13

14

15
12

13

M4*40

H  X40



10

STEP15

STEP16

X4

X4

Left

Right

C

A
A

A

AJ

I

J

I

A

C
C

C
C

A  X 20

M6*35 

A  X 20

M6*35 

C  X 20

15*10
I  X 8 J  X8

C  X 20

15*10
I  X 8 J  X8

C

A
A

A

AJ

I

J

I

A

C
C

C
C

11

10

Screw accessory A into board 10, then connect board 10 to 
boards 12, 13, and 15 with accessory C. Finally, thread screw J 
through board 10 and connect it to handle I.

Screw accessory A into board 11, then connect board 11 to 
boards 12, 13, and 15 with accessory C. Finally, thread screw J 
through board 11 and connect it to handle I.

15
12

13

15
12

13



11
11

11

11

10

10

10

10

11

STEP17

STEP18 The drawer slides must be aligned with the internal rails, otherwise the drawer will tilt.

Fix left inner drawer runner ( DL) to part 11 and fix right inner drawer runner (DR) 
to part 12 using
screws (G), as shown.

DL

DR

X6

DL

DR

12

13

G

G

G

G

G X 32 DL X 8

DR X 8



12

STEP19

STEP20

G X12 L  X 12

Attach wedges (L) as shown using screws.

G

L

G

L

G

L

G

L

G

L

G

L

G

L

G

L

G

L

G

L

G

L

G

L

K  X 2

1,Mark on the wall 2,Make holes in the wall

3,Push in the plastic plug 4,Insert long screws into the wall to 
fix the clasp

5,Secure the clasp with short screws
at the top of the back leg

6,Push the plastic tie through the holes 
in the two clasps and tighten it.

x1

8*250mm

STEP15

STEP16

11

x1

8*250mm

STEP
15

STEP
16

11x1

8*250mm

STEP
15

STEP
16

11

K

K


